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NEW QUESTION 1
When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two)

A. 2000::/3
B. 2002::5
C. FCo00::/7
D. FF02::1
E. FF02::2

Answer: DE

NEW QUESTION 2
Which command prevents passwords from being stored in the configuration as plain text on a router or switch?

A. enable secret

B. service password-encryption

C. username Cisco password encrypt
D. enable password

Answer: B

NEW QUESTION 3

Which two capacities of Cisco DNA Center make it more extensible? (Choose two)

A. adapters that support all families of Cisco 10S software

B. SDKs that support interaction with third-party network equipment

C. customized versions for small, medium, and large enterprises

D. REST APIs that allow for external applications to interact natively with Cisco DNA Center

E. modular design that is upgradable as needed

Answer: BD

NEW QUESTION 4

(L

LinbgLE

must mstch

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 5
Refer to the exhibit.

[ .2

- —— '!‘lﬂ‘lﬂ'llﬂ.'fﬂﬂi
>@—l 10 10 10.0/28 —ﬁ——
T 2

g H i e Router1 Switch1 Host A

(e _ 1010 13214

Routeri#show ip route
Gateway of last resort is 10.10.11.2 to network 0.0.0.0

209165 200.027 5 subnetted, 1 subneis
B 209 165 200.224 [20/0) via 10.10.12 2, 03-22:14

209 165 201 V27 s subnetted, 1 subnets
B 209 165.201.0 [20/0] via 10.10.12.2, 02.26:33

209165202 /27 is subnetted. 1 subnets
B 209 165 202 128 [20/0] wa 10.10.12 2, 02:26:03

10 0.0 0/8 1s vanably subnetted. 8 subnets, 4 masks
C 10.10.10 0/28 s directly connected, GigabitEthemet0/0
C 10.10.11.0/30 15 directly connected, FastEthermet2/0
c 10.10.12.0/30 is directly connected, GigabitEthernet0/1
0 10.10.13.0/25 [110/2] wia 10.10.10.1, 00:00-04, GigabitEthermet0/0 [
0 10 1013 128728 [110/2] wia 10 10 10 1, 00-00-04, GigabiEthemet(/0
0 10 10 13.144/28 [110/2] wia 10 10.10 1, 00:00 04, GigabilEthermnet(/0
0 10.10.13.160/29 [110/2] via 10.10.10.1, 00.00.04, GigabitEtherneat0/0
O 10.10.13 20829 [110/2] via 10.10.10.1, 00:00:04, GigabilEthemet0/0
5" 0000:0[10lwa10.10.11.2

Which prefix does Router 1 use for traffic to Host A?

A.10.10.10.0/28
B. 10.10.13.0/25
C. 10.10.13.144/28
D. 10.10.13.208/29

Answer: C

NEW QUESTION 6

How does HSRP provide first hop redundancy?

A. It load-balances traffic by assigning the same metric value to more than one route to the same destination m the IP routing table.
B. It load-balances Layer 2 traffic along the path by flooding traffic out all interfaces configured with the same VLAN.

C. It forwards multiple packets to the same destination over different routed links n the data path

D. It uses a shared virtual IMC and a virtual IP address to a group of routers that serve as the default gateway for hosts on a LAN

Answer: C
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NEW QUESTION 7

in Which way does a spine and-leaf architecture allow for scalability in a network when additional access ports are required?

A. A spine switch and a leaf switch can be added with redundant connections between them

B. A spine switch can be added with at least 40 GB uplinks

C. A leaf switch can be added with a single connection to a core spine switch.
D. A leaf switch can be added with connections to every spine switch

Answer: D

NEW QUESTION 8

A frame that enters a switch fails the Frame Check Sequence. Which two interface counters are incremented? (Choose two)

A. runts

B. giants

C. frame
D.CRC

E. input errors

Answer: DE

NEW QUESTION 9
Refer to the exhibit.

Atlantafeant T

Atlanta (config) #aaa new-model

Arlants (config) fass authsnrication login defanlt local
Atlanta (config) #line vty 0 4
Atlanta(config-line)#login authentication default
Atlanta (config-line) faxitc

Atlanta (config) fusernane ciscoadnin privilege 13
Arlants (canfig) fanabls passwerd clscslldl

Atlanta (config) fenable sscret testingllld4
Atlanta (config) fand

Enter configuration commands, one per line. End with CNTL/Z.

Atlanta (config) fusername ciscoadmin password adminadminll)

Which password must an engineer use to enter the enable mode?

A. adminadmin123
B. default

C. testing 1234

D. ciscol123

Answer: C

NEW QUESTION 10

Which configuration is needed to generate an RSA key for SSH on a router?

A. Configure the version of SSH
B. Configure VTY access.

C. Create a user with a password.
D. Assign a DNS domain name

Answer: B

NEW QUESTION 10
Which output displays a JSON data representation?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 14
What is the primary different between AAA authentication and authorization?

A. Authentication verifies a username and password, and authorization handles the communication between the authentication agent and the user database.
B. Authentication identifies a user who is attempting to access a system, and authorization validates the users password

C. Authentication identifies and verifies a user who is attempting to access a system, and authorization controls the tasks the user can perform.

D. Authentication controls the system processes a user can access and authorization logs the activities the user initiates

Answer: C
NEW QUESTION 18

Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.
check the answer below.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 200-301 dumps!
rJ CE[‘tSharEd https://www.certshared.com/exam/200-301/ (103 Q&AS)

NEW QUESTION 20
A Cisco IP phone receive untagged data traffic from an attached PC. Which action is taken by the phone?

A. It allows the traffic to pass through unchanged
B. It drops the traffic

C. It tags the traffic with the default VLAN

D. It tags the traffic with the native VLAN

Answer: C

NEW QUESTION 21
What are two characteristics of a controller-based network? (Choose two)

A. The administrator can make configuration updates from the CLI

B. It uses northbound and southbound APIs to communicate between architectural layers

C. It moves the control plane to a central point.

D. It decentralizes the control plane, which allows each device to make its own forwarding decisions
E. It uses Telnet to report system issues.

Answer: AC

NEW QUESTION 24
What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)

A. when the sending device waits 15 seconds before sending the frame again
B. when the cable length limits are exceeded

C. when one side of the connection is configured for half-duplex

D. when Carner Sense Multiple Access/Collision Detection is used

E. when a collision occurs after the 32nd byte of a frame has been transmitted

Answer: CE

NEW QUESTION 26
Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the
administrative distance of the route that will be installed in the routing table?

A. 20
B. 90
C. 110
D. 115

Answer: B

NEW QUESTION 29

What is the primary effect of the spanning-tree portfast command?

A. it enables BPDU messages

B. It minimizes spanning-tree convergence time

C. It immediately puts the port into the forwarding state when the switch is reloaded
D. It immediately enables the port in the listening state

Answer: A

NEW QUESTION 34
What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?
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A. The Layer 2 switch drops the received frame

B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.

C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B

NEW QUESTION 38
Refer to the exhibit.

ip ATp inspactisn visn 5-10

interface fastethernet 0/1
switchport modes ACCesS
switchpoart access vian S

What is the effect of this configuration?

A. All ARP packets are dropped by the switch

B. Egress traffic is passed only if the destination is a DHCP server.

C. All ingress and egress traffic is dropped because the interface is untrusted

D. The switch discard all ingress ARP traffic with invalid MAC-to-IP address bindings.

Answer: D

NEW QUESTION 43
Refer to the exhibit.

R2#show ip nat translations
Pro Inside global Inside local Outside local

tep 172.23.104.3:43268 10.4.4.4:43268 172.23.103.10:23 172.23.103.10:23
tep 172.23.104.4:45507 10.4.4.5:45507 172.23.103.10:80 172.23.103.10:80

Outside global

An engineer configured NAT translations and has verified that the configuration is correct. Which IP address is the source IP?

A.10.4.4.4
B.10.4.4.5

C. 172.23.103.10
D. 172.23.104.4

Answer: C

NEW QUESTION 45
Refer to the exhibit.

Rl% show ip route

192 168 .16.0/26 [90/2679326] wia 192.168.1.1
192 168 .16.0/24 [120/3] wia 192.168.1.2
152.168.16.0/21 [110/2) via 152.1608.1.3

L1 192.168.16.0/27 [115/30] via 192 . 168.1.4

=0 0o

Which route does R1 select for traffic that is destined to 192 168.16.27

A. A-192.168.16.0/21B.192.168.16.0/24C.192.168 26.0/26D.192.168.16.0/27

Answer: B

NEW QUESTION 49
Refer to the exhibit.

[rectiEcstTest ~]§ ip routs
default via 192.168.1.1%3 dev ethl proto static
192.168.1.0/26 dev ethl proto kefnel scope link sfc 192.168.1.200 metric 1

[roct@HoastTest ~]§ ip addr show sthl
ethl: m=mtu 1500 gdisc pfifo_fast gqlen 1000
link/athar 0Q:0C:22:83:79:A3 bra fr:ff:fr - fr:ff:-Ie
inet 192.168.1.200/26 brd 152.168.1.255 scope global ethi
inets fel0; 20c;259ff . feld: 7902/ /64 scope link
valid 1ft forever prafarred 1ft foraver

Drag and drop the networking parameters from the left onto the correct values on the right. Check the answer below.
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SNt mLEsa

host [P aGCress

T':T l-':_r-'-: I'..

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NIC MAC address

SNt mLEsa

host [P aGCress

T':T l-':_r-'-: I'..

NEW QUESTION 54

Drag and drop the AAA functions from the left onto the correct AAA services on the right
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Iauthentication

recoras user acovities

restricts the senvices that are available to a user

identifies the user

controls the actions that 3 user can perform

provides analytical nformation for the network admenistrator

verfies the password assocated with a user

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Kuthentication

L

records user actvities |
-—-—-—-——-—-—-—-—--—-—-——-—-—-—-—-—-——L

restricts the sennices that are available to 3 user

Y SN T T

_________________ |
| identhies the uter I reCoras user actvities I
L _________________ e — — — == m— — — — m— = — — mm— o — — —_— '
r — — e — — S — m— — — | — — — — — m— —
controls the achons that a user can perform J | restricts the services that are available to 3 user
'

ﬂ I o o e o i e i i

provides analvtical nformation for the network administrator

verfies the password assoCated with 2 user |

NEW QUESTION 57
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Which two actions influence the EIGRP route selection process? (Choose two)

A. The router calculates the reported distance by multiplying the delay on the exiting Interface by 256.

B. The router calculates the best backup path to the destination route and assigns it as the feasible successor.

C. The router calculates the feasible distance of all paths to the destination route

D. The advertised distance is calculated by a downstream neighbor to inform the local router of the bandwidth on the link
E. The router must use the advertised distance as the metric for any given route

Answer: AD

NEW QUESTION 62
Which command is used to specify the delay time in seconds for LLDP to initialize on any interface?

A. lldp timer

B. lldp holdtimt
C. lidp reinit

D. lldp tlv-select

Answer: D

NEW QUESTION 65
Refer to the exhibit.

Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (D) 10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length O

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor countis 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 66
An engineer is asked to protect unused ports that are configured in the default VLAN on a switch. Which two steps will fulfill the request? (Choose two)

A. Configure the ports in an EtherChannel.

B. Administratively shut down the ports

C. Configure the port type as access and place in VLAN 99
D. Configure the ports as trunk ports

E. Enable the Cisco Discovery Protocol

Answer: AD
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NEW QUESTION 71
Which QoS Profile is selected in the GUI when configuring a voice over WLAN deployment?

A. Bronze
B. Platinum
C. Silver

D. Gold

Answer: B

NEW QUESTION 75
Which statement identifies the functionality of virtual machines?

A. Virtualized servers run most efficiently when they are physically connected to a switch that is separate from the hypervisor
B. The hypervisor can virtualize physical components including CP

C. memory, and storage

D. Each hypervisor can support a single virtual machine and a single software switch

E. The hypervisor communicates on Layer 3 without the need for additional resources

Answer: D

NEW QUESTION 80
Refer to the exhibit.

Which type of route does R1 use to reach host 10.10.13.10/327?

A. floating static route
B. host route

C. default route

D. network route

Answer: D

NEW QUESTION 83

Which feature on the Cisco Wireless LAN Controller when enabled restricts management access from specific networks?
A. CPUACL

B. TACACS

C. Flex ACL

D. RADIUS

Answer: B

NEW QUESTION 84
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A user configured OSPF and advertised the Gigabit Ethernet interface in OSPF By default, which type of OSPF network does this interface belong to?

A. point-to-multipoint
B. point-to-point

C. broadcast

D. nonbroadcast

Answer: B

NEW QUESTION 87

An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual
machine?

A. platform-as-a-service
B. software-as-a-service
C. network-as-a-service
D. infrastructure-as-a-service

Answer: D

NEW QUESTION 89
Which mode allows access points to be managed by Cisco Wireless LAN Controllers?

A. autonomous

B. lightweight

C. bridge

D. mobility express

Answer: B

NEW QUESTION 90
Refer to Exhibit.

s "' "B T =y - S
Se(0/1 2013 <0 >el// -
¥ ) -y
" _ o Washington
Allanta » Se00/0 o000 /7 , . *

L

Lo1

o i e Static route to Lo1 on Atlanta via Se0/0/1
Defauk Route /0 wa Sel

2012712 Configured routers IPv6 addresses
Atlanta
Senal 00/0 . 2012..1/126
20231126 Senal 0/0/1 : 2013.:1/126
Loopback1 2000 1/128
N .t a2l a - w o 4 Iie'lfl.hl:l‘
Se0/00 " A= 5 oel0'1 Senal 0/0/0 - 201221126
Senal 00/1 - 2023:2/126
New-York Loopback2 2000 2/128
Lo2? - Washington
Senal 00010 2023 3126

Serial 00/1 - 2013 3/126
Loopback3 2000 3/128

Ml G el v

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta
goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 93

Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router
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C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding
D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 96
Which action is taken by a switch port enabled for POE power classification override?

A. When a powered device begins drawing power from a PoE switch port a syslog message is generated

B. As power usage on a PoE switch port is checked data flow to the connected device is temporarily paused

C. If a switch determines that a device is using less than the minimum configured power it assumes the device has failed and disconnects
D. If a monitored port exceeds the maximum administrative value for power, the port is shutdown and err-disabled

Answer: C

NEW QUESTION 98
Refer to exhibit.

Router (config) #interface GigabitEthernet 1/0/1
Router (config-if) #ip address 192.168.16.143 255.255.255.240
Bad mask /28 for address 192.168.16.143

Which statement explains the configuration error message that is received?

A. Itis a broadcast IP address

B. The router does not support /28 mask.
C. It belongs to a private IP address range.
D. IT is a network IP address.

Answer: A

NEW QUESTION 100
Which network allows devices to communicate without the need to access the Internet?

A. 1729.0.0/16

B. 172.28.0.0/16

C. 192.0.0.0/8

D. 209.165.201.0/24

Answer: D

NEW QUESTION 102
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.

FTF

A. Mastered
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B. Not Mastered

Answer: A

Explanation:
FTP
TFTP

NEW QUESTION 106

Refer to the exhibit.

———"  ™—_ Router1 Router2 — -
4 Site B 7

Router#zshow ip route
Gateway of last resor is not set

10.0.0.0/8 is vanably subnetted, 4 subnets, 2 masks
C 10.10.10.8/30 is directly connected. FastEthernetl2
C 10 10.10 12730 i1s dwectty connected, FastEthemet(/1
O 10.10.13.0/25[110/11] via 10.10.10.9, 00:00.03, FastEthemet/2
[110/11] via 10.10.10.13, 00:00:03, FastEthernat(y1
C 10 10 10 4/30 1s directly connected, FastEthemet(/2

If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?

A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: D

NEW QUESTION 107

When a site-to-site VPN is used, which protocol is responsible for the transport of user data?
A. IKEv2

B. IKEvl

C. IPsec

D. MD5

Answer: C

NEW QUESTION 110
Refer to the exhibit.
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Gi 0/2 Gi 0/1
Internet
e g Gi 072
¥ =7
-‘ T
10.0.20.0/26 !J., E,i 10.0.10.0/26
_=’ _=’
10.0.1 0 0.0.0.63 eq smtr ‘
RZ (config) #access 1st 101 deny tcr .0.20. ! .0.6
RZ ?'r::; 1) # ;; access-group 101 1in

An extended ACL has been configured and applied to router R2 The configuration farted to work as intended Which two changes stop outbound traffic on TCP

ports 25 and 80 to 10.0 20 026 from the 10.0.10 0/26 subnet while still allowing all other traffic? (Choose two)

A. Add a "permit ip any any" statement to the begining of ACL 101 for allowed traffic.
B. Add a "permit ip any any" statement at the end of ACL 101 for allowed traffic

C. The source and destination IPs must be swapped in ACL 101

D. The ACL must be configured the Gi0/2 interface inbound on R1

E. The ACL must be moved to the GiO/1 interface outbound on R2

Answer: AE

NEW QUESTION 111

Which mode must be used to configure EtherChannel between two switches without using a negotiation protocol?
A.on

B. auto

C. active

D. desirable

Answer: D

NEW QUESTION 115

A router running EIGRP has learned the same route from two different paths Which parameter does the router use to select the best path?

A. cost

B. adminstrative distance
C. metric

D. as-path

Answer: C

NEW QUESTION 117

If a notice-level messaging is sent to a syslog server, which event has occurred?
A. A network device has restarted

B. An ARP inspection has failed

C. Arouting instance has flapped

D. A debug operation is running

Answer: A

Guaranteed success with Our exam guides

visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 200-301 dumps!
D CEt‘tSharEd https://www.certshared.com/exam/200-301/ (103 Q&AS)

NEW QUESTION 120
Refer to the exhibit.

Elf show ip route | begin gateway

Gateway of last resort is 209 .165.200.24€ to network 0.0.0.0

£ 0.0.0.0/0 [1/0] wia 209 163.200. 246, Seriald/l/0

iz directly connected, Seriald/1/0

172.16.0.0/16 is variably subnetted, 3 subnets, 31 masks

172.16.0.0/24 [1/0] +ia 207, 165 200.250, Sariald/0/0

172.16.0.128/2% [110/38443] wis 207_.165.200.254, 00:00:23, Sarisl0fOos1
172.16.0.15%2/29 [90/3184439) wia 207.16% 200.254, 00:00:2%, Serial0/0/1
209.165,200.0/24 i3 variably subnatted, 4 subnets, 2 masks

209 165.200.248/30 1z directly connected, Sarialdf0/0

209 165 .200.245/32 is directly connected, Seriald/0/0

20%, 163 200, 232730 is directly connected, Seriall/0/1

209165 200.253/32 is directly connected, Serislld/fo/1

== 7]

H e

With which metric was the route to host 172.16.0.202 learned?
A. 110

B. 38443

C. 3184439

Answer: C

NEW QUESTION 123
Drag and drop the WLAN components from the left onto the correct descriptions on the right.

- -P‘::-l- ' F

. '..a-"' n.;.'ﬂ:'.'
|
|
1

T Y nterfa-a

i = © '
=
AN
ety Laaly L . 3

A. Mastered
B. Not Mastered

Answer: A

Explanation:
51
1:2
2:4
4:3
35

NEW QUESTION 126
Refer to the exhibit.

Gateway of last resort is 10.12.0.1 to network ©0.0.0.0

ovEd 0.0.0.0/0 [110/1] wia 10.12.0.1, D0:00:01l, GigabitEthernetd/{
10.0.0.0/8 1s variably subnetted, 2 subnets, 2 masks

C 10.0.0.0/24 12 directly connected, GigabltEtharnatl/0
L 10.0.0.2/32 ias directly connected, GigabitEthernet0/0
C 10.13.0.0/24 18 direcrly connected, GigabitEthernatD/l
L 10.13.0.2/32 is directly connected, GigabitEthernet(/l

If configuring a static default route on the router with the ip route 0.0.0.0 0.0.0.0 10.13.0.1 120 command how does the router respond?
A. It ignores the new static route until the existing OSPF default route is removed

B. It immediately replaces the existing OSPF route in the routing table with the newly configured static route
C. It starts load-balancing traffic between the two default routes
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D. It starts sending traffic without a specific matching entry in the routing table to GigabitEthernetO/1

Answer: D

NEW QUESTION 127
Drag and drop the functions from the left onto the correct network components on the right

P‘O‘Sﬂ"’dﬂ'

hoids the TCP/IP sethings 1o D¢ dstnbuted 0 the Cwents

resoves web URLs o IP aooresses

stores a kst of TP addresses mapped to names

355.9ns 3 default gateway 1o 3 Chent

IDNS Server
assgns [P addresses to enabied Chients
A. Mastered
B. Not Mastered
Answer: A
Explanation:
DHCP Server
| |
haids the TCP/IP sethings to be dstnbuted to the chents | | hoias the TCP'IF semngs 0 De d<tnDutad 10 the Chents |
hw_-_ﬂ_ﬂ- o e— e e m— e o e e e e e e e—
I Y r = — m— mm— pEaa =1 m— mm— — =3 | EEEL  — m—
resolves web URLs T [P aodresses | | resoives web URLs to IP addresses

R T T R N R

stores a kst of [P addresses mapped to names

| zssigns [P addresses to enabled Chents

w — I — — — — — — — — — — I

stores a kst of [P addresses mapped to names

2es0ns [P addresses To enabec Chents

T e e e e = = = = = ==

| 25005 3 Jefaut gateway 10 3 Chent

NEW QUESTION 130
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